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Question Number : 1 Question Id : 1134991 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Name the British Viceroy who took the decision to partition the state of Bengal in the year 1905.

Options:
1 % Lord Chelmsford

- « Lord Curzon

- w Lord Hardinge

4 % Lord Minto

Question Number : 1 Question Id : 1134991 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 2 Question Id : 1134992 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which ruler of the Chola regime earned the exalted title of *Gangaikondachola’?

Options:

1 o Rajendra Chola I

- = Rajadhiraja Chola
o % Virarajendra Chola

4 » Kulothunga CholaI



Question Number : 2 Question Id : 1134992 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 3 Question Id : 1134993 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which of the following rulers built the unique and famous Hawa Mahal in Jaipur?

Options:
, = JaisSinghl

-~ % Bishan Singh

-  Pratap Singh

4 % Jagat Singh

Question Number : 3 Question Id : 1134993 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 4 Question Id : 1134994 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0.66
Which of the following Mughal emperors built the Buland Darwaza in Fatehpur Sikri?

Options:
, = Humayun

- % Shah Jahan

- % Jahangir

4 « Akbar

Question Number : 4 Question Id : 1134994 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 5 Question Id : 1134995 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Mamallapuram is named after which of the following Pallava rulers?

Options:
1 # Mahendravarman I
- % Paramesvaravaman

z % Budhavarman

4 « Narasimhavarman I

Question Number : 5 Question Id : 1134995 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 6 Question Id : 1134996 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
In which year was the Kheda Satvagraha organised as part of the Indian freedom struggle?

Options:
1 % 1920

5 o 1918
s % 1925

4 % 1923

Question Number : 6 Question Id : 1134996 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:

% 1920

-« 1918
- 1925

L % 1923

Question Number : 7 Question Id : 1134997 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
The infamous Doctrine of Lapse was devised by which of the following Governor Generals of India?

Options:
1 # Lord Auckland

> % Lord William Bentinck



= « Lord Dalhousie

4 s Lord Hastings

Question Number : 7 Question Id : 1134997 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 8 Question Id : 1134998 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which is the second longest river of India after Ganga?

Options:
1 % Yamuna

- % Narmada
z % Krishna

4 « Godavari

Question Number : 8 Question Id : 1134998 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 9 Question Id : 1134999 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which is the only Indian state that has a live diamond mine?

Options:
1 % Uttar Pradesh

> % Rajasthan

%z % Odisha

4 « Madhya Pradesh

Question Number : 9 Question Id : 1134999 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 10 Question Id : 11349910 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
In which Indian state is the World’s second largest and Asia’s largest salt-water lake called Chilika sitvated?

Options:
1 % Maharashtra

> o Odisha

- = Rajasthan

4 % Andhra Pradesh

Question Number : 10 Question Id : 11349910 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0.66

fae & gad waw 737 AR oy & wa 99 IR 9 7 e Rt aa ¥ e s A Ra
Options:

| » FERTT

5 of ifEerw

5 u ISl

Question Number : 11 Question Id : 11349911 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Japan is traditionally known as the ‘Land of the Rising Sun’. Which place of India is also called by the same name —
‘Land of the Rising Sun’?

Options:

, % Nagaland

> % Manipur

z % Mizoram

4 « Arunachal Pradesh

Question Number : 11 Question Id : 11349911 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 12 Question Id : 11349912 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66



Salal Hvdroelectric Project is built on which Indian river?
Options:
1 « Chenab

-~ % Bhagirathi

5 % Kovna

4 % Narmada

Question Number : 12 Question Id : 11349912 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 13 Question Id : 11349913 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which of the following soils is also referred to as Regur?

Options:

, % Redand yellow soil

> % Alluvial soil
= « Black soil

4 % Laterite soil

Question Number : 13 Question Id : 11349913 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 14 Question Id : 11349914 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which state has the largest absolute area under forest cover in India?

Options:
1 % Arunachal Pradesh

-  Madhya Pradesh

z % Odisha

, % Chhattisgarh

Question Number : 14 Question Id : 11349914 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 15 Question Id : 11349915 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

What is the minimum age requirement for becoming the President of India?
Options:

| % 235 vears



5 % 40 vears

5 % 30 vears

4« 3O years

Question Number : 15 Question Id : 11349915 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 16 Question Id : 11349916 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
As per the constitution and current parliamentary approvals, what is the corpus size of the Contingency Fund of India?

Options:
1 # 300 crores

5> « X500 crores
= % <100 crores

4 % 3200 crores

Question Number : 16 Question Id : 11349916 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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. % 100 33

. % 200 X3

Question Number : 17 Question Id : 11349917 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
In which year did Maharashtra introduce the institution of Lokayukta? It was the first state to do so.

Options:
;. % 1970

> % 1980
3 « 1971

4 % 1992

Question Number : 17 Question Id : 11349917 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:

. = 1970

o % 1980
5« 1971

L # 1992

Question Number : 18 Question Id : 11349918 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Name the Chief Justice of India who passed the verdict that the right to privacy is a fundamental right.

Options:
1 « JS Khehar
-~ % Dipak Misra

- % Ranjan Gogoi

4 % TS Thakur



Question Number : 18 Question Id : 11349918 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 19 Question Id : 11349919 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Name the judge who headed the Seventh Pay Commission.

Options:
1 % BN Srikrishna
- % Ratnavel Pandian

%z % Suresh Tendulkar

4 « AK Mathur

Question Number : 19 Question Id : 11349919 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 20 Question Id : 11349920 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
As of December 2018, who is the National Security Advisor of India?

Options:
{ % RNRavi

> % Shivshankar Menon

o % MK Naravanan

4  Ajit Doval

Question Number : 20 Question Id : 11349920 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 21 Question Id : 11349921 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

In which of the following locations was the first India-ASEAN InnoTech Summit, organised by Federation of Indian
Chambers of Commerce & Industry (FICCI) was held?

Options:
1 % Mumbal
> « New Delhi

3z % Ahmedabad

, = Hyderabad

Question Number : 21 Question Id : 11349921 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 22 Question Id : 11349922 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
In which city is the Global Investors Meet (GIM) 2019 scheduled to be held?

Options:
1 #% Mumbali

- % Hyderabad
5 % Bengaluru

4 « Chennai

Question Number : 22 Question Id : 11349922 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 23 Question Id : 11349923 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66



In December 2018, Federation of Indian Micro and Small & Medium Enterprises (FISME) partnered with to
sell its products online.

Options:

, % Flipkart

> % Shapdeal

= « Amazon India

4 % Myntra

Question Number : 23 Question Id : 11349923 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 24 Question Id : 11349924 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

In October 2018, Israel Aerospace Industries (IAT) signed a deal with Bharat Electronics Limited (BEL) worth
to supply additional Barak-8 Long Range Surface to Air Missile (LRSAM) systems for the Indian Navy?

Options:
1 % $666 million
> % 3500 million

= % 5400 million

4 « 5777 million

Question Number : 24 Question Id : 11349924 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 25 Question Id : 11349925 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
As of December 2018, who is the Managing Director and CEO of the National Stock Exchange?

Options:
1 L= 1 x
{ « Vikram Limaye

> % Dinesh Kanabar
%z % Chitra Ramakrishna

4 % Naved Masood

Question Number : 25 Question Id : 11349925 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 26 Question Id : 11349926 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
[DFC Bank merged with in January 2018.



Options:
1 % State Bank of India

-  Capital First
z % HDFC Bank

4 % Bharti AXA

Question Number : 26 Question Id : 11349926 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 27 Question Id : 11349927 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Any physical body that is completely or partially submerged in a fluid (gas or liquid) at rest is acted upon by an upward
force, the magnitude of which is equal to the weight of the fluid displaced by the body. What is this phenomenon called?

Options:
, » Bemoulli’s Principle

5 % Tyndall effect

- = Kepler's Law

4 « Archimedes Principle

Question Number : 27 Question Id : 11349927 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 28 Question Id : 11349928 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

The Narendra Modi Government has constituted a high power committee called PM-STIAC (Science, Technology and
Innovation Advisory Committee) to advise it on policy matters related to science, technology and innovation. Who
heads this 21-member committee?

Options:

; = Amar Gupta

- % Akhilesh K Gaharwar
3 % Ashoke Sen

4 K Vijay Raghavan

Question Number : 28 Question Id : 11349928 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 29 Question Id : 11349929 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Name the scientist whose game changing discovery of malaria led to the establishment of World Mosquito Day. It was
on 20 August 1897 that this scientist established the link between mosquitos and humans for malaria transmission.

Options:



1 % Ivan Petrovich Pavlov
- « Ronald Ross
=z % Robert Koch

4 % Camillo Golgi

Question Number : 29 Question Id : 11349929 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 30 Question Id : 11349930 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

What is the specialty of water at 4°C?
Options:

, = Highest viscosity

- u Highestsurface tension

-  Highest density

4 % Lowest density

Question Number : 30 Question Id : 11349930 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 31 Question Id : 11349931 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
In medical terms, what is the meaning of ‘edema’?

Options:

. « Abody swelling

- % Adischarge from the ear

- % Adischarge from the nose

4 = Discoloration of the eye

Question Number : 31 Question Id : 11349931 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 32 Question Id : 11349932 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

If a doctor claims that he is a nephrologist. then in which of these areas is he a specialist?
Options:

, w Eyes



5 % Lungs

-  Kidneys

4 % Child birth

Question Number : 32 Question Id : 11349932 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 33 Question Id : 11349933 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Which city hosts ‘The Sawai Gandharva Bhimsen Mahotsav'? It is considered one of the largest classical music
festivals in India.

Options:
1 % Nashik

> « Pune

- % Belgaum

4 % Nagpur

Question Number : 33 Question Id : 11349933 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:




Question Number : 34 Question Id : 11349934 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Name the author of the book "Adventures of Bozo and Chick : Terror at Bedlam House’. The story is set with Mumbai
as its background.

Options:
1 % Shobhaa De

- % Anant Pai
- % Gangadhar Gopal Gadgil

4  Ranjit Lal

Question Number : 34 Question Id : 11349934 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 35 Question Id : 11349935 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Who inaugurated the fourth edition of the Kochi-Muziris Biennale in the state of Kerala in December 20187 The
Biennale boasts of one of the largest global collections of contemporary art.

Options:
1 % Actor Mohanlal

-  Kerala CM Pinarayi Vijayan



o % Actor Mammootty

4 = Writer Chetan Bhagat

Question Number : 35 Question Id : 11349935 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 36 Question Id : 11349936 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

UNESCO has added an ancient wrestling art form of a particular country to its coveted list of intangible heritages.
Name the country of origin of this wrestling form that is more art than sport.

Options:

, « Georgia

> % EZypt
- % Russia

4 % Ukraine

Question Number : 36 Question Id : 11349936 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 37 Question Id : 11349937 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Name the state that hosted the International Gita festival in December 2018 to commemorate the sacred scripture of
Bhagavad Gita.

Options:
. » Gujarat

> % Odisha

- = Rajasthan

4  Haryana

Question Number : 37 Question Id : 11349937 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 38 Question Id : 11349938 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which state of India celebrated the Indian Cherry Blossom Festival in November 20187

Options:
1 % Jammu and Kashmir

-  Meghalaya

% % Uttarakhand



4 % Karnataka

Question Number : 38 Question Id : 11349938 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 39 Question Id : 11349939 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Name the veteran Congress leader who took the post of Chief Minister of Madhya Pradesh after the recent elections in
2018.

Options:
, % Jyotiraditya Scindia

> « Kamal Nath
= % Sachin Pilot

4 = Digvijaya Singh

Question Number : 39 Question Id : 11349939 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 40 Question Id : 11349940 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Name the European digital transformation company with which India inked a deal in December 2018 to procure super
computers.

Options:
1 % TransferWise UK

> « Atos France

o % SAP SE Germany

4 % Huddle UK

Question Number : 40 Question Id : 11349940 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 41 Question Id : 11349941 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
After the December state-wise elections, who became the new Congress Chief Minister of Chhattisgarh?

Options:
. % Ajit Jogi
-  Bhupesh Baghel

z % Kamal Nath

4 % Sachin Pilot

Question Number : 41 Question Id : 11349941 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 42 Question Id : 11349942 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

PV Sindhu scripted history to become the first Indian to win a Badminton World Federation (BWF) World Tour Finals
in December 2018. Which country hosted this 2018 event?

Options:
1 % Brazil

o % Japan

= % South Korea

4 + China

Question Number : 42 Question Id : 11349942 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 43 Question Id : 11349943 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which country won the Hockey World Cup that was held in India (Bhubaneswar) in December 20187



Options:
1 % Pakistan

- % Canada
% % Netherlands

4  Belgium

Question Number : 43 Question Id : 11349943 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 44 Question Id : 11349944 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which of these II'Ts will have its new campus inaugurated by Prime Minister Narendra Modi in December 2018?

Options:
, w Jodhpur

> « Bhubaneswar
=z % Patna

4 % Mandi

Question Number : 44 Question Id : 11349944 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 45 Question Id : 11349945 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

As per a recent global study, which bird dominates the world in terms of its sheer numbers? This bird outnumbers the
second largest number of birds on the planet by an order of 10 times.

Options:
1 #% Crow

5 % Sparrow
3 « Chicken

4 ® Red-billed Quelea

Question Number : 45 Question Id : 11349945 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
g & H gV U ARESF HeTTA F HJAN, HiF W qell g F A7 3ol wcafos wE=am F AES A
30T T@T €7 I el 10 I 5T N eF # wew HiOw WA A wierar # gEl T 9red 3 2

Options:
| % TPIAT

g_a?TﬁTIT

B =2

, % el feer Jrem e (Red-billed Quelea)

Question Number : 46 Question Id : 11349946 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Name the European country that has agreed to provide €120 million soft loan for Clean Ganga Mission. The fund will
be used to strengthen sewage water treatment infrastructure in Uttarakhand.

Options:

, % United Kingdom



5 o Germany

= % TIrance

4 % Netherlands

Question Number : 46 Question Id : 11349946 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 47 Question Id : 11349947 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

The Union Ministry of Environment, Forest and Climate Change (MoEFCC) has initiated a plan for protecting forests
from further degradation. Name this scheme which is aligned with the Paris agreement on climate change.

Options:
| % BLUEE Strategy

>  REDD Strategy

5 % GREENN Strategy

4 % PINKK Strategy

Question Number : 47 Question Id : 11349947 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 48 Question Id : 11349948 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Name the international tech giant that is partnering with a host of Indian organisations including WIPRO and
NASSCOM for its 'Call for Code' initiative that aims to build global solutions for disaster management.

Options:
1 % Facebook

> % Amazon
= % Microsoft

4. ¢ IBM

Question Number : 48 Question Id : 11349948 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 49 Question Id : 11349949 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

As part of its environmental degradation studies, one IIT conducted a study on the drying of Ganga River in recent years
during summer seasons. Name the IIT which studied and concluded that decline of ground water is causing this drying

up.
Options:
| % T Kanpur



> % IT Delhi

- « T Kharagpur

4 % 1T Bombay

Question Number : 49 Question Id : 11349949 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 50 Question Id : 11349950 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Name the Bollywood actress who was appointed as the brand ambassador of the Sanjay Gandhi National Park in
Borivali, Mumbai in September 2018, Environmental protection and conservation will be her main goals.

Options:
1 % EshaDeol

-~ % Karishma Kapoor

z % Juhi Chawla

4 « Raveena Tandon

Question Number : 50 Question Id : 11349950 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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General Knowledge of Chhattisgarh
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Revisit allowed for view? : No
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Group Marks: 100
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General Knowledge of Chhattisgarh

Section Id : 1134992

Section Number : 1
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Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 1134992
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 11349951 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

The archaeological remains found in recently excavated region ‘Pachrahi’ are associated with which dynasty of ancient
Chbhattisgarh?

Options:

, % Sharabhpuriya dynasty

-~ % Pandu dynasty



-  Phaninag dynasty

4 % Naladynasty

Question Number : 51 Question Id : 11349951 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 52 Question Id : 11349952 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
The following rulers of Kalchuri dynasty ruled from the capital Tumman:

(1) Laxmanraj
(i) Kalingraj
(iil)Kamalraj
(iv)Ratnaraj

Select the correct answer.
Options:
| % (1) (i) (iii)

o o (i) (i) (iv)
2% (O (1) (v

L x (D (i) (i)

Question Number : 52 Question Id : 11349952 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 53 Question Id : 11349953 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

During the Maratha suzerainty in Chhattisgarh the Pindari menace started in the time of which of the following
Subedar?

Options:
, « Bikaji Gopal

- % Bhawani Kalu

= % Mahipatrao Dinkar

4 % Vithal Dinkar

Question Number : 53 Question Id : 11349953 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 54 Question Id : 11349954 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Read the following statements:

1. During British protectorate a tax named “Takoli” was collected from the Zamindars of Chhattisgarh.
2. An attempt was made to annex the zamindaris in British Empire.
3. Zamindars were to be agreed upon a prescribed document signed by them.

Select the correct answer.
Options:
1 % 1. 2 and 3 are correct.

-~ % 1 and 2 are correct.
z % 2 and 3 are correct.

4 « 1 and 3 are correct.

Question Number : 54 Question Id : 11349954 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 55 Question Id : 11349955 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66



During the revolt of 1857, the Zamindars of the following zamindaris supported the British against Narayan Singh, the
zamindar of Sonakhan:

(1) Bhatgaon

(ii)  Chhuikhadan
(iii) Dewvari

(iv) Kenda

Select the correct answer.
Options:

L w (i) ()

Question Number : 55 Question Id : 11349955 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 56 Question Id : 11349956 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

At which of the following places in Chhattisgarh a movement against the forest law was launched during the Non —
Cooperation Movement?

Options:



% Rudri — Nawagaon

~ % Daundi— Lohara
% % Tamora — Mahasamund

» Nagri— Sihawa

Question Number : 56 Question Id : 11349956 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 57 Question Id : 11349957 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Which of the following pairs is not correctly matched? (Event during Civil Disobediences Movement in Chhattisgarh
and date)
Options:

, « Flag hoisting on High School in Bilaspur by Kranti Kumar Bharatiya — 14 August 1930

-~ % Kisan conference in Raipur — 10 January 1932
- % Inauguration of swadeshi exhibition by Gandaji in Raipur — 23 November 1933

4 % Observance of Peshawar Day at Raipur — 29 January 1933

Question Number : 57 Question Id : 11349957 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 58 Question Id : 11349958 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Which of the following leaders of Chhattisgarh was the Defence Member in the Government of India during the Second
World War?

Options:
1 % Ravishankar Shukla

- % Ghanshyam Singh Gupta
3 % Barrister Chhedi Lal

4 o E Raghavendra Rao

Question Number : 58 Question Id : 11349958 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 59 Question Id : 11349959 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
The districts of Chhattisgarh attached with Maharashtra are:

Options:



, % Rajnandgaon, Kanker, Kondagaon

- % Narayanpur. Bijapur, Konta

-  Kanker, Narayanpur, Bijapur

4 % Narayanpur. Bijapur, Sukma

Question Number : 59 Question Id : 11349959 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 60 Question Id : 11349960 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
In which district of Chhattisgarh the intersection of tropic of cancer and the meridian of the Indian Standard Time is
located?

Options:
. Koriva
1. ® J

o o Surajpur

- % Balrampur

4 ® Surguja

Question Number : 60 Question Id : 11349960 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:



Question Number : 61 Question Id : 11349961 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

The Keshkal Ghat forms border between which two of the following physiographic provinces?
Options:

, » Baghelkhand Plateau and Chhattisgarh Basin

- % Chhattisgarh Basin and Maikal Range

- « Chhattisgarh Basin and Bastar Plateau

, » Bastar Plateau and Abujhmad

Question Number : 61 Question Id : 11349961 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 62 Question Id : 11349962 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66



According to the census of 2011, the following are the maximum and minimum literacy district:

Dhamtari
Raipur
Narayanpur
Durg
Bijapur

DR

Select the correct answer.
Options:
1 % 2and3

> o 4and>5
3 % 4and3

4 % land5s

Question Number : 62 Question Id : 11349962 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 63 Question Id : 11349963 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Gendi dance in prevalent in:



Options:
1 % Mudia

» % Abujhmadia
z % Korku

4 « Muria

Question Number : 63 Question Id : 11349963 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 64 Question Id : 11349964 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
In which district archeological place Bhongapal is situated?

Options:
1 % Dantewada

» % Narayanpur

- % Kondagaon

4 « Bastar

Question Number : 64 Question Id : 11349964 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 65 Question Id : 11349965 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Siddheshwar temple is situated at:

Options:
1 « Palari

5 % Sirpur
z % Kharaud

4 » Fingeshwar

Question Number : 65 Question Id : 11349965 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 66 Question Id : 11349966 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which is maximum rainfall region in Chhattisgarh state?

Options:
, » Keshkal Valley



- % Chhuri —Udaipur Hill

-  Abhujmad Hill

4 % Ramgarh Hill

Question Number : 66 Question Id : 11349966 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 67 Question Id : 11349967 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Who is the author of Chhattisgarhi novel ‘Divana ke Anjor’?

Options:
1 % Vinod Kumar Shukla

- % Ramnarayan Shukla

- » Dayashankar Shukla

4 « Shivshankar Shukla

Question Number : 67 Question Id : 11349967 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 68 Question Id : 11349968 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

‘Domkach’ dance is prevalent in which region?
Options:

, « Jashpur

- % Rajnandgaon

= % Bastar

4 % None of the given options

Question Number : 68 Question Id : 11349968 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

THFT FoT T e F guted 27
Options:

1.9 e

o % YIS

g_ﬁw

4 % T8 W FY G

Question Number : 69 Question Id : 11349969 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Who is the author of the book ‘Lal Andhera™?
Options:

1 % Hiralal Shukla

-  Rajiv Ranjan Prasad

%z % Hari Thakur



4 % Harihar Vaishnav

Question Number : 69 Question Id : 11349969 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
T IR JEAHF F IW@F HleT 872
Options:
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Question Number : 70 Question Id : 11349970 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Pramod Sahu is related with which art?
Options:

1 ® Dance

> % Singing
=z % Music

4  Painting

Question Number : 70 Question Id : 11349970 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 71 Question Id : 11349971 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which festival is related with the tradition of giving paddy?

Options:
1 « Cherchera

- % Dussehra
= % Hareli

4 % Pola

Question Number : 71 Question Id : 11349971 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

uTeT e Fr e Fw s ¥ gefg €7
Options:

1% %:IGI
o W Eﬁw
= :
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Question Number : 72 Question Id : 11349972 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which of the following is NOT a scheduled caste in Chhattisgarh?

Options:
1 % Mahra

-~ % Ganda
3 « Panika

4 % Satnami

Question Number : 72 Question Id : 11349972 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 73 Question Id : 11349973 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

The traditional habitation area of Muria tribe is:
Options:

1 % Balod

- % Jashpur
- % Kawardha

4 Narayanpur

Question Number : 73 Question Id : 11349973 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
AR St & a9 arw &7

Options:
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Question Number : 74 Question Id : 11349974 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Which of the following is the member of the Mundari language family?
Options:

1 % Gandi



- % Halbi
5 % Parji

4 + Pahari Korwa

Question Number : 74 Question Id : 11349974 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
frrafof@a & @ #ia Jerlr s 9f@w & @ewT 32

Options:
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Question Number : 75 Question Id : 11349975 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
‘Bayar’ is prevalent in which area?
Options:

1L W Sarguja

-~ % Rajnandgaon
- = Raipur

4 % Gariyaband

Question Number : 75 Question Id : 11349975 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
‘FRIT T 9= ST 3= H 22
Options:

1. v 3

o % XTedlGeT



Question Number : 76 Question Id : 11349976 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
What agricultural loan of farmers has been waived by Chhattisgarh Government in the year 2018-2019?

Options:

, « Short period agricultural loan

> % Medium term agricultural loan

- » Long period agricultural loan

4 w Allofthe given options

Question Number : 76 Question Id : 11349976 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Y 2018-19 H SodiEele TR & I foraat $r sia-ar For A% Gar 7 2

Options:
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Question Number : 77 Question Id : 11349977 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
In which district of Chhattisgarh the maximum quantity of paddy is purchased in 2018-19?

Options:
1 % Mahasamund

5 of Janjgir-Champa

- w Bilaspur



4 % Baloda Bazar

Question Number : 77 Question Id : 11349977 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 78 Question Id : 11349978 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which is NOT included in secondary sector of Chhattisgarh economy?

Options:
, % Manufacturing Sector

- » Electricity, Gas and Water supply

= % Construction

4  Mining and Quarry

Question Number : 78 Question Id : 11349978 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 79 Question Id : 11349979 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

What is done to find out *Gross State Domestic Product” at market price of the Chhattisgarh State?
Options:

1.9

Product tax is added and product subsidy is deducted in CG Gross State Domestic value added on base price.

z ®
Product tax us deducted and product subsidy is added in CG Gross State Domestic value added on base price.

=
Product tax and product subsidy both are added in Chhattisgarh Gross State Domestic Product value added on base
price.

4 ®
Product tax and product subsidy both are deducted from Chhattisgarh Gross State Domestic Product value added on
base price.

Question Number : 79 Question Id : 11349979 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 80 Question Id : 11349980 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
What is the rank of Chhattisgarh in India in the context of Forest area?

Options:
1 % Fifth Rank

» « Fourth Rank



= % Third Rank

4 % Second Rank

Question Number : 80 Question Id : 11349980 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

IF-839 Fr o F odwee FT 9T H FT FH 7

Options:
, % G=EET A

Question Number : 81 Question Id : 11349981 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
How many ‘Home Herbal Garden’ were established in Forest Boards of the State during rainy season 20177

Options:
1 07

o ® 08
2 o 09

g4 10

Question Number : 81 Question Id : 11349981 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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g # 10

Question Number : 82 Question Id : 11349982 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
What is correct about the meetings of Gram Sabha?

(1) Nagar Panchayat can say to call a meeting.

(ii) Janpad Panchayat can say to call a meeting.

(iii) Collector can say to call a meeting.

(iv) Sarpanch calls the meeting.

(v) If ¥4 members of Gram Sabha request in writing, Sarpanch will call the meeting.
Options:

L ow (D) (i) (i)
5 o () (i) (iv)
5w (i) (V) (V)

4 & (V) (v) (D)

Question Number : 82 Question Id : 11349982 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:

pow (1) (i) (i)

o o (i) i) (V)
. w (i) (V) (v)
s ) W 0)

Question Number : 83 Question Id : 11349983 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0.66
Which of the following is correct?

Sarpanch can be disqualified from his office if:

(1) he fails for quorum in the meetings of Gram Sabha.

(i1)yhe fails for quorum in three subsequent meetings of Gram Sabha.

(iil)he is given two more chances for quorum in the meetings of Gram Sabha.
(iv) he does not call the meeting of Gram Sabha regularly.

Options:
& @O

5w (D) (i)
5 % (1) (i) (iiD)

4 v (D) (1D) (iD) (iv)

Question Number : 83 Question Id : 11349983 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

o 7 ¥ =iF @ = 27
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Options:

o= ()

, () ()
_ w () (i) i
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Question Number : 84 Question Id : 11349984 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66



Which of the following is NOT correct?

(1) The Tenure of Gram Panchayat is 5 years.

(ii) The Tenure is counted from the date of first meeting of Gram Panchayat.

(iil) The tenure is counted from the date of declaration of result.

(iv) The tenure is counted from the date of notification of composition of Gram Panchayat.

Options:

o % (i) (iv)
5w (D) (iid)

L (D (i)

Question Number : 84 Question Id : 11349984 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 85 Question Id : 11349985 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66



What is correct about the composition of Janpad Panchayat?

(1) Members elected from constituencies.

(ii) All MIA’s elected from Janpad area.

(iil) Those ML A’s of Janpad area who represents the rural area.
(iv) All Loksabha members of Janpad area.

(v) All Sarpanch of Janpad area.

(vi) 1/5 Sarpanch of Janpad area.

Options:
L ow (D) (i) (iv)

5 o (1) (i) (vi)

L, ow (D (D)

Question Number : 85 Question Id : 11349985 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:

pow (@) (i) (iv)

o v (1) (i) (vi)
5 = () (iv) (v)
4w (1) (i) (v)

Question Number : 86 Question Id : 11349986 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
How the General Administration committee of Janpad Panchayat is formed?

Options:



1 % Members are elected.

> % Members are nominated by the President.
Chairman of standing committees are become its members.

4 % Administrative experts are nominated in it.

Question Number : 86 Question Id : 11349986 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 87 Question Id : 11349987 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

A member of State Public commission can be removed on the ground of misbehavior only after an enquiry has been
held by:

Options:
, % the State Legislative Assembly.

> % aCommittee constituted by Governor.
= the Supreme Court.

4 % the High Court.

Question Number : 87 Question Id : 11349987 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 88 Question Id : 11349988 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

From which mineral production the Chhattisgarh state has received the maximum revenue income during the period
2012-13 to 2016-177

Options:
1 « Coal

- % Iron Ore
z % Bauxite

4 % Lime Stone

Question Number : 88 Question Id : 11349988 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 89 Question Id : 11349989 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
What is the rate of grants in aid for scheduled castes/scheduled tribes/other Backward class in rural area under ““Prime
Minister Employment Creation Program™ in Chhattisgarh State?

Options:



o % 40%

2 « 35%

Question Number : 89 Question Id : 11349989 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

TG H “FUAAA TSR G FAFA” F Hecdd FJHSd /AT F=ia/dey fHosr 9
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Options:

| % 50%

o % 40%
2« 35%

L ® 25%

Question Number : 90 Question Id : 11349990 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

What place has been given to Chhattisgarh State Electricity Producer Company Limited in State Sector on National
level in the start of November 2017 as per report of Central Electricity Authority, New Delhi?

Options:
1 % First

- % Second
z % Third

4 « Fourth

Question Number : 90 Question Id : 11349990 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 91 Question Id : 11349991 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

How many irrigation projects of Chhattisgarh State have been included in 99 important projects identified by
Government of India under Prime Minister Agriculture Irrigation Projects?

Options:
1. = 06

o W 05
3 o 03

4 * 02

Question Number : 91 Question Id : 11349991 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
AN FE FAE TAAT F 3eded R WHR ZaRT egiehd 99 Agea (Ul ITRASAHT H Sedaee
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Options:

1 ® DG

o ® 05
3 v 03

4 ®B 02

Question Number : 92 Question Id : 11349992 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
The first player of Chhattisgarh who has won gold medal in international Thai boxing championship is:

Options:
1 % Daneshwari

-~ % Bhageshwari



= « Tikeshwari

4 % Maleshwari

Question Number : 92 Question Id : 11349992 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Todraee H ggelr TerEr Sae semvae ars aifgEe Affaws @ 7 =T 95w Sar?

Options:
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Question Number : 93 Question Id : 11349993 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which of the constituencies of legislative assembly are reserved for scheduled tribes?

Options:
, % Bharatpur, Jagdalpur, Pratappur, Sitapur

-~ % Ambikapur, Pratappur, Sitapur. Joshpur
- w Bharatpur, Jashpur, Raigrah, Ambikapur

4 « Pratapur, Bharatpur, Joshpur, Sitapur

Question Number : 93 Question Id : 11349993 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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, o TR, AR, A, AR

Question Number : 94 Question Id : 11349994 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Who are the MLA of Bahujan Samaj Party?

(1) Kishmat Lal Nand
(ii) Dwarikadhish Yadav
(ii1) Sangita Sinha
(iv) Keshav Prasad Chandra
(v) Indu Banjare

Options:

| ® (1) (i1)

o s (i) (i)
o s (i) (i)

4. J {j-“'] {1"?]

Question Number : 94 Question Id : 11349994 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 95 Question Id : 11349995 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Match the MI_As with their constituency.

Name ML A Constituency
(a) Anita Yogendra Sharma (1) Samari
(b) Saurabh Singh (ii) Dharsiwa
(¢) Purushottam Kanwar (ili) Akarthala
(d) Chintamani Mahara| (iv) Katghora

Options:
. % (@), (beiid). (c-ii), (d-iv)

5 o (a-ii), (b-iii). (c-iv), (d-i)

o % (a-id), (b-iv), (c-i). (d-iii)

4w (@-D), (b-ii), (c-iv), (d-iii)

Question Number : 95 Question Id : 11349995 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:

1 ® (a-i), (b-iii), (c-ii), (d-iv)
. o (&), (i), (c-iv), (d-)

o w (ai), (bv), (c-), (d-iii)

, w (&), (beii), (c-iv), (d-iii)

Question Number : 96 Question Id : 11349996 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66



What is correct (in the position of January 2019)?
(1) Salary of Speaker of Legislative assembly is ¥1,00,000.
(ii)  Salary of Speaker of Legislative assembly is ¥32.000.
(iii)  Salary of Deputy Speaker of Legislative assembly is 75.000.
(iv)  Salary of Deputy Speaker of Legislative assembly is ¥28,000.
(v)  Salary of Chief Minister is ¥35,000.
(vi)  Salary of Chief Minister is ¥90.000.
(vii) Salary of Cabinet Minister is ¥30.000.

(viil) Salary of Cabinet Minister is T80,000.
Options:
, s (1) (1ii) (vi) (viii)

(ii) (Iv) (vi) (viii)

i
o % (D) (i) (v) (vi)
4 v (1) (V) (v) (vii)

Question Number : 96 Question Id : 11349996 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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= = (1) (i) (v) (vii)
4 v (i) (iv) (v) (vii)

Question Number : 97 Question Id : 11349997 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
When Naya Raipur was renamed Atal Nagar?

Options:
, % July 2018

5 o August 2018

5 = September 2018

4 % October 2018

Question Number : 97 Question Id : 11349997 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
AT TG FT ATHFIOT HTA AN Fe [hHaT T q1?

Options:

. TS 2018

- x T&dFEET 2018

, » FECET 2018

Question Number : 98 Question Id : 11349998 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Match the leaders of Jan congress Chhattisgarh with their office. (as on January 2019).

Name Leader Office
(a) Dharmjeet singh (1) Deputy Leader (MLA party)
(b) Devbrat Singh (1) Head whip
(c) Renu Jogi (1i1) ML A Party Leader
(d) Pramod Sharma (iv) Part whip

Options:



| % (a-id), (b-iv). (c-i), (d-ii)

5 % (a-1i), (b-1), (c-1v), (d-1ii)

- (a-1ii), (b-i1), (c-1), (d-iv)

o % (@), (b-D). (c-iv), (d-ii)

Question Number : 98 Question Id : 11349998 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

S FH BealHeE F A F 3% UG F FTAR FATOT S0 (Fumirdr FAad 2019).

ATH AT g
(a)uaeha g | i, 39 a7 (Rugs @)

(b) =g fag i. TET FEAH

(c) Yo7 AR jii. Temaes o Adr

=2

(d) gHiE eEAT iv. goT F=a®

Options:

| w (@), (beiv), (c-i), (d-iii)

o w (aii), (b), (c-iv), (d-iii)

5 o (@iii), (b-ii), (c-i), (d-iv)

o w (adil), (b-i), (c-iv), (d-ii)

Question Number : 99 Question Id : 11349999 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which is matched in the context of Antagarh Tap scandal?

(1) Mangatu Ram Pawar
(i1) Punit Gupta

(ii1) Feroz Siddiqui

(iv) Vikram Usendi

Options:



2 o (), (i), (iid)

o s (D), (i) (i), (iv)

Question Number : 99 Question Id : 11349999 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

HedIeTg TIHIUS & TesT H i gafaa g2

i. HIGUH &R
ii. Jeta 3T

ii. U= AEer
iv. TH 38+

Options:

L 10
.« () (i)

_ o () (i) (i)

o w () (i) (i) (iv)

Question Number : 100 Question Id : 113499100 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
What is correct about late Shyamlal Chaturvedi of Bilaspur?

(i) He was awarded *Padma Shri’.
(ii) He was first Chairman of Chhattisgarh Rajbhasha commission.
(iil) He was a member of private universities regulating commission.
(iv) He has written ‘Dan I eela® book.
(v) He was author of the book ‘Bholwa Bholaram’.
(vi) "Beti ke Bida’ was his work.

Options:

;R (1) (11) (iiL) (v)

o w (i) (i) (iv) (vi)



5 ® (i1) (iv) (v) (vi)

4 v (DD (V) (vi)

Question Number : 100 Question Id : 113499100 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

ey & T eumHeTer Tgddr & vy # wer #ar g7

. 3eg TEAT [EER fEET T o)

i. T TodigeTg IASNT AT & FUH HeTeT o)

ii. ¥ T T Regew FuESE HEET F e o
iv. & ‘TeAeler JEde & AT I

v. F ‘SeET SORE IEE & oEE

vi. ‘9Er % fEr 3 Hia o

Options:

pow (1) (i) (i) (v)
o w (1) (i) (iv) (vi)
2 % (i) (iv) (v) (vi)
4 v @) (i) (v) (vi)
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Question Number : 101 Question Id : 113499101 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Interpersonal skills are said to be the skills required to communicate an information or message from one person to
another. through a channel.

Keeping the aforesaid statement in mind, in a face to face communication process, which of the following can be
considered as a channel?
Options:

| « Speech & vision only

- % Eye contact only

- % Hand writing only

, % Intonation only

Question Number : 101 Question Id : 113499101 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 102 Question Id : 113499102 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
In a digital communication process which of the following is said to be a “web address™, specifying a site?



Options:
1 ® Uniform Site Procedure (USP)

> % Communication Process Unicode (CPU)
- w Google

4 Uniform Resource Locator (URL)

Question Number : 102 Question Id : 113499102 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
ﬁm%ﬁwm-mﬁﬁmﬁﬁﬁmmmﬁ&hﬁﬁﬁﬁwm?“QEW'ﬁrrsnt-n
g2

Options:

| TFHH TEE SRR (ZOE)
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T R
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Question Number : 103 Question Id : 113499103 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
How can an individual improve upon his or her communication skills?

Think & speak
Yelling
Good posture
Eye contact
Understand the message first then reply
Observe
Roll eyes on the speaker
8. Intonation
Options:
i % 1,2,3,4,5&6

Bow b =

LN

o

> 1,2,4,5,7&8

2w 1.3,4,5,6&8



. % 1,4,5,6,7

Question Number : 103 Question Id : 113499103 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

FS HIA FITUT-HRS H FH GUN FT Fehall &7

1.9 AT Fea @

2. Freem= &

3. 3= gE-HT ¥

4.7 e @

5. TS F Ugel THSA, WX Faw a3 &
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Options:

. %1,2,3 4586
w28 5 768
v 13,456&8

4% 1,4,5 6,7

Question Number : 104 Question Id : 113499104 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Declaration of the ‘demonetisation” in 2016, by the Prime Minister of India was done through which form of
communication?

Options:

. « Speech

~ # Face to face interaction

- » Public Service Announcement (PSA) on radio

4 % Telephonic message

Question Number : 104 Question Id : 113499104 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 105 Question Id : 113499105 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Two statements are followed by three conclusions. Assuming the statements to be true even if they are at variance with
commonly known facts. decide which of the conclusions logically follow(s) from the given statements.

Statements:

I.  All shops are buildings.

II. Some buildings are concrete structures.
Conclusions:

L. Some shops are concrete structures.

2. No concrete structure is a building.
3. No shop is a concrete structure.

Options:
, % OnlyIfollows

-~ % Only IIT follows

z % Either I or II follows

4 « Either I or III follows

Question Number : 105 Question Id : 113499105 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 106 Question Id : 113499106 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Consider the given statement and decide which of the given assumptions (facts, which can be taken for granted) is/are
implicit in the statement.

Statement:
Modern schools consider positive attitude and confidence building in pupils as an essential part of the school lessons.

Assumptions:
I. Inearlier days, people did not have the right kind of attitude and confidence.
II1. These two qualities are very much required for success in life.
III. These two qualities are not inherited; they can be inculcated through training.
Options:
, % Only I is implicit

» % Only III is implicit

5 ® Both I and IT are implicit

4 « Both I and IIT are implicit

Question Number : 106 Question Id : 113499106 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 107 Question Id : 113499107 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

A statement is followed by possible three courses of action. A course of action is a further action with regard to the
problem on the basis of the information given in the statement. Decide which of the suggested courses of action
logically follow(s) for pursuing.

Statement:

Quite a number of night buses are stopped on the express highway and the passengers are looted of their valuables by
armed robbers.

Courses of Action:
I. The passengers should be asked not to carry valuables while travelling by bus at night.
II. Armed policemen should patrol the highway regularly.
III. Buses may not be permitted to ply in the night at least for the time being.

Options:

; % OnlyIfollows

5 of Only II follows

z % BothIand II follow

4 % BothII and III follow



Question Number : 107 Question Id : 113499107 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 108 Question Id : 113499108 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Given below is a question followed by two statements I and II, each containing some information. Decide which of the
statements is/are necessary/sufficient to answer the question.

Question:

Five friends A, B, C. D and E are standing in a row facing north. Who is standing at the extreme right end?
Statements:

I. C is between B and E and D is to the immediate left of E and is at one end of the row.
IL.E is to the right of A; C is to the left of B and D is at one end of the row.

Options:
1 « Statement I alone is sufficient

> % Statement IT alone is sufficient

- % Either I alone or II alone is sufficient



, » BothIandII are necessary

Question Number : 108 Question 1d : 113499108 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 109 Question Id : 113499109 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
The two words in the following word pair are related in a particular way. Find the word pair from the options in which
the two words are related in the same way.

Threads : Cloth
Options:

1 #% Leaves: Tree
- % Water : River

= % Animals : Zoo

4 « Straws : Nest

Question Number : 109 Question Id : 113499109 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 110 Question Id : 113499110 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Select the option that is related to the fourth term in the same way as the first term is related to the second term.

BECD : FLHT :: ? : QWSU

Options:
; ®# LOMN

> % PMON

. « MSOQ

4 v MPNO

Question Number : 110 Question Id : 113499110 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 111 Question Id : 113499111 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
If MONDAY is coded as XZCMNL. then SINGER would be coded as:

Options:
, « QDFLGT

> % SFHOIT
. » QDFMHR

PCELGQ

Question Number : 111 Question Id : 113499111 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

I MONDAY & XZCMNL & &7 & &Iz &7 3mar &, 9 SINGER & T H #1E BT S
Options:

. % QDFLGT
., » SFHOJT
- v QDFMHR

4 s PCELGQ

Question Number : 112 Question Id : 113499112 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Which two signs in the following equation should be interchanged to make the equation correct?

I5-20=8+12+6=12
Options:
1 ® “x7and ‘+’

> ® ‘“+”and ‘+’
3 ¢ ‘— and ‘=’
4 ® *—and ‘X’

Question Number : 112 Question Id : 113499112 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 113 Question 1d : 113499113 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
A team of four with minimum two boys is to be formed from four girls A, B, C and D and four boys E, F, G and H,
meeting the following criteria.

i. Hand A cannot go together

ii. C and F will always be together.
iii. A cannot be put up with D.
iv. B cannot be put up with G.

v. B and H must be put together.

Which of the following would be a viable team?
Options:

1 % CAHE

-~ % BCFG

=z « CDGF

4 % BDCF

Question Number : 113 Question 1d : 113499113 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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. » CAHE
., » BCFG
2 v CDGF

., » BDCF

Question Number : 114 Question Id : 113499114 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

Four men A, B, C and D and four women, E. F. G and H are sitting around a circular table facing the centre. No two
women are neighbors. E is to the immediate left of A and second to the right of G. H is the neighbor of A. G is to the
immediate right of C., who is second to the left of B.

Which two persons are sitting between D and G?

Options:
1 % AandE

> % EandF
z ® CandH

4 « CandF

Question Number : 114 Question Id : 113499114 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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. » AARE
5 ® E3iRF
2 % C 3T H
4 C3RF

Question Number : 115 Question Id : 113499115 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
In a coded form,

P + Q means P is the brother of Q.
P — Q means P is the son of Q.

P = Q means P is the father of Q.
P + Q means P is the sister of Q.

Which of the following means that C is definitely the paternal uncle of A?

Options:
, % A-B+DxC

- % A—D+B~+C
3¢ C+tD+BxA

4 % CxB+DxA

Question Number : 115 Question Id : 113499115 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:

% A-B+DxC



,%x A-D+B+C
o C+D+BxA

4% CxB+DxA

Question Number : 116 Question Id : 113499116 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
Eight friends A, B, C, D, E. F, G and H are sitting around a round table facing the centre.

(1) C and F are neighbours but are not neighbours of H.
(i) D is the neighbour of G and fourthto the left of C.
(iii) A is the neighbour of H and thirdto the right of G.
(1v) E is not a neighbour of either B or F.

Who is sitting opposite G?
Options:
1 & A

Question Number : 116 Question Id : 113499116 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

T TS & AR AR g @ HR HE S A awd A, B, C. D, E F, G IR & : &

i. C 3T F sma-9rw § afhd H & =7l & 25 2
i.D GF T H g 3R C T T 3T T =tar 2
i. AHF T H ¢ 3T G ¥ g5 3T ¥ 99w 2
iv. E ar & B Ir F & 9917 H 7T gl

G & WHES FiT ST 872
Options:

l_ﬁA

2_23':



Question Number : 117 Question Id : 113499117 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
If 833 X47= A, then which of the following is equal to 833 X487

Options:
1 % A+1]

> #% A+47
2 % A+48
4 ¢ A+833

Question Number : 117 Question Id : 113499117 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

I 833 x47 =A, af A=Rf@a & #19 833 x 48 & &Y &7
Options:

1 ® A+ 1
> % A+ 47
= % A+ 48

L v A+ 833

Question Number : 118 Question Id : 113499118 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

When a two-digit number is multiplied by the sum of its digits, the result is 567. When the number is written in the
reverse order and then multiplied with the sum of its digits, 324 is the result. What is the number?

Options:
1.+ 63

4_23 T2



Question Number : 118 Question Id : 113499118 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:

> % 38‘
S ] 87

4 = ?2

Question Number : 119 Question Id : 113499119 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
The sum of two numbers is 90. If one of them exceeds the other by 16, then what are the numbers?

Options:
, = 50,40

Ln
Laa
fad
e |

% 60,30

4 w 64,48

Question Number : 119 Question Id : 113499119 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:

. = 50, 40
5 o B3, 37
. = 60, 30

. = B4, 48

Question Number : 120 Question Id : 113499120 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66



After evaluating the following expression, what will be the unit’s digit in the resultant?

18 27 x 46 x 51 = 87
Options:

-

1. <

2.335

Question Number : 120 Question Id : 113499120 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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18 x 27 x 46 x 51 x 87
Options:
1. ¢ 2

Question Number : 121 Question Id : 113499121 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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3 % HO

4 v e

Question Number : 121 Question Id : 113499121 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 122 Question 1d : 113499122 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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. 10T

o ® 2

, x FeTad

Question Number : 122 Question Id : 113499122 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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o W 2
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, % T

Question Number : 123 Question Id : 113499123 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 123 Question Id : 113499123 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 124 Question 1d : 113499124 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 124 Question Id : 113499124 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 125 Question Id : 113499125 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
‘AromAT H FiT G FAE 27

Options:
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Question Number : 125 Question Id : 113499125 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 126 Question Id : 113499126 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
g 7 wig @ 3@fa 27

Options:
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Question Number : 126 Question Id : 113499126 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 127 Question Id : 113499127 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 127 Question 1d : 113499127 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 128 Question 1d : 113499128 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 128 Question Id : 113499128 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 129 Question Id : 113499129 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 129 Question Id : 113499129 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 130 Question Id : 113499130 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
c +
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Options:
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Question Number : 130 Question Id : 113499130 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
: :
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Options:
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Question Number : 131 Question Id : 113499131 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 131 Question 1d : 113499131 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 132 Question Id : 113499132 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 132 Question Id : 113499132 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 133 Question Id : 113499133 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 133 Question Id : 113499133 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
TS AT F HeT AH FT g7

Options:




Question Number : 134 Question Id : 113499134 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

‘AT T & TARR FiT 22
Options:

Question Number : 134 Question Id : 113499134 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:

Question Number : 135 Question Id : 113499135 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 135 Question 1d : 113499135 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 136 Question Id : 113499136 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 136 Question Id : 113499136 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:

1%»333-&



o w o
- % SATET G

4 o chhel

Question Number : 137 Question Id : 113499137 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 137 Question Id : 113499137 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 138 Question Id : 113499138 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 138 Question Id : 113499138 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
FAIoell' T 872
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Question Number : 139 Question Id : 113499139 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 139 Question Id : 113499139 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 140 Question Id : 113499140 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66

TTHA F FT Fea 87
Options:

lw%ﬁ-
N oGl

ST

Sk

SFaT

4 B ]

Question Number : 140 Question Id : 113499140 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 141 Question Id : 113499141 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 141 Question Id : 113499141 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 142 Question Id : 113499142 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 142 Question Id : 113499142 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 143 Question Id : 113499143 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 143 Question 1d : 113499143 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 144 Question Id : 113499144 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 144 Question Id : 113499144 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 145 Question 1d : 113499145 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 145 Question Id : 113499145 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 146 Question Id : 113499146 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 146 Question Id : 113499146 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 147 Question Id : 113499147 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:



Question Number : 147 Question Id : 113499147 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 148 Question 1d : 113499148 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 148 Question Id : 113499148 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Options:
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Question Number : 149 Question Id : 113499149 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 149 Question Id : 113499149 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 150 Question Id : 113499150 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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Question Number : 150 Question Id : 113499150 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.66
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